OI'bOY BO «KazaHckuid rocyJapCTBEHHBIN YHEPIeTUUECKUN YHUBEPCUTET

Kadenpa «AHOCTpaHHBIE I3BIKI

Kontponpshas pabora Ne 1
Bapuant Ne 2

1o gucuuIuinae « MHOCTPaHHBIN A3BIK» (AHTJIHIACKHUNA)

Boinmonuun: Aragonos Huknra MakcumoBuy
Crynenr: 1 kypca

['pynna: 3AYCy-1-24

Mudp 2240807

Iloamucek:

[IpenonaBarens: ['msasuena ['yzens 3ydapoBHa

OrneHka:

[ara:

Ionmmce:

Kazaun 2024



Bapuant 2
3apnanme 1. OOpasyiiTe MU 3alUIIATE BO MHOXKECTBEHHOM 4YHUCJE CIEIYIOIINE
CYIICCTBUTCIILHBIC!
knife - knives
factory - factories
hero - heroes
series — series
mountain - mountains

3aganue 2. [lepenuiinre Mpensio’keHUs, 3aMoiHsAs MpoOenbl apTUKIsIMU (8, an,
the nim nyneBbm).

1. 1. I heard a knock at the door and went to open it.

2. He is still a young man, we hope he’ll become a good pianist.

3. I don’t like milk with my tea.

4. There is love in her eyes.

3aganue 3. OOpa3yiiTe W 3alUIINTE CPABHUTEIBHYIO U MPEBOCXOAHYIO CTEIECHH
annaraT CJIIbHBIX:

easy — easier — the easiest

polite — more polite — most polite

stressful — more stressful — most stressful

little — less, lesser — the least

strong — stronger — the strongest

serious — more serious — most serious

3aganue 4. OOpanias BHUMaHHE Ha OCOOEHHOCTH IMEpPEBOA CTETIEHEW CpaBHEHUS
MpujiaraTCJIbHbIX U HﬂpC‘-IHfI, MNCPCBCAUTC U IICPCITUINNTEC ITPCATOKCHUA:

1. The coals of this type are most satisfactorily burned on chain-grate stocker. —
VY sroro Tuna Hanodosee 3PPEKTUBHO CKUTAIOTCS HA KOUEerapKe ¢ LEMHON
PELIETKOM.

2. The more space is provided by the furnace, the less unburned fuel will escape
from it. — Yem Oomblie MecTa OTBOJUTCH M€Y, TEM MCHBIIC HECTOPEBILICTO
TOILJIMBA YJICTUT U3 HECC.

3aganume S. Ilepenuiunre ¥ nepeBeAUTE MPEIIOKEHUS, OOpallas BHUMAHHE Ha
nepeBoy MectouMeHni. [loguepkHUTE MECTOMMEHMS B AHIJIMMCKOM H PYCCKOM
IMPCOIOKCHUAX

1. You should plan your life yourself. — Bsl 10/0KHBI caMu TUIaHUPOBATH CBOIO
KU3HBb.

2. The problem should be solved in all its complexity. — I[Ipobaema fgomKHA OBITH
pelIeHa BO BCEMl €€ CIIOAKHOCTH.

3. The authors restricted themselves only to a description of the phenomenon. —
ABTOpBI CaMH OI'PaHUYNIMCDH JINIIb OIIMCAHUCM SABJICHUA.

4. His very apology shows that his fears are baseless. — Camo ero u3BuHeHne
[TOKa3bIBACT, UTO €0 OIIaCCHUA HEOOOCHOBAHHBLI.




5. The confidence was destroyed by the mistakes made by him. — YBepennocts
ObLIa pa3pyllieHa u3-3a CACIaHHbIX UM OIIHOOK.

3azla1me 6. HepeHI/IIHI/ITe IMPCIJI0KCHUA. B rimaBaom MNPCATO0KCHUN ITIOAYCPKHUTC
CKa3zyeMoe U OompeeuTe BUAOBpeMeHHYI0 (opMy U 3ajor riarona. I[lepeBenute
IIPEIJIOKEHUS HA PYCCKUM SA3BIK:

1. They tend to focus on areas such as the arts, business & management, and
theology. — OHu uUMeEIOT TEHIEHIMIO (POKYCHPOBATHCS HAa TaKUX 00JACTAX, Kak
UCKYCCTBO, OM3HEC W YIIPABJICHUE, U TEXHOJOTHSI.

Tend to focus — Present Simple Active ot riaroia tend.

2. The feedwater heater has affected the efficiency of the overall recycle. —
HarpeBarens mnmrarensHOM BOABI MOBIUsAT Ha A((PEKTUBHOCTH  00MmIEH
nepepadoTKH.

Has affected - Present Perfect Active ot riaromna affect.

3. This discovery will be a world break-through. — Dt0 oTkpbITHE CcTaner
MHUPOBBIM IIPOPBLIBOM.

Will be — Future Simple Passive ot riaromna to be.

4. The furnaces are being partly water cooled. — Ileun gacTUYHO OXJIAXKIAIOTCS
BOJIOM.

Are being — Present Continuous Passive ot riiaromna to be.

5. Cooling water corrosive in nature influences the choice of material for
condenser tubes. — Oxiakgarorias BOJa, BBI3BIBAIONIAS KOPPO3UIO IO CBOEH
IPUPOJIE BIMSAET HAa BBIOOp MaTepuaa Jjisi KOHAEHCATOPHBIX TPYOOK.

Infiuences - Present Simple Active ot riaroma Infiuences.

6. The association of scholars first gathered in the town of Oxford in 1209. —
Acconmarus yueHbIX BriepBbie codpanack B ropoae Oxcdopa B 1209 roxy.
Gathered — Past Simple Active ot riarosa gather.

7. Proper treatment of the coal at the correct time is affected on its passage through
the furnace. - IlpaBunbHas 0OpabOTKa yIJis B HYKHOE BpEMsl BIMSCT Ha €ro
MMPOXOKACHUC YCPEC3 IICYb.

Is affected - Present Simple Passive or rinarosa affect.

8. The students were looking through their notes when the teacher came into the
room. - YueHuk IMpocMaTpuBajl CBOU 3aIIMCH, KOrla YHHUTCJIb BOIICII B KOMHATY.
Were looking through - Past Continuous Active ot riarosa look.

3aganme 7. Ilepenummre npemnoxeHus. llogyepkHuTe B KaXIOM M3 HHX
MOHaHBHBIﬁ TJ1aroj nujir €ro 3KBHUBAJICHT. HepeBez[HTe MMpCHJIOKCHHUA Ha pYCCKI/Iﬁ
A3BIK.

1. After the convection the heated or cooled fluid may flow to some other region. —
Ilocie KOHBCKIIMH HArperas HJIN OXJIAXKACHHAA JKXKHUAKOCTb MOKCT TCUYb B z[pyroﬁ
PETHOH.

2. A power plant has to be built on this river. — Ha »Toii peke momkHa OBITH
IMTOCTPOCHA IJICKTPOCTAHII M.

3. People ought to be more tolerant. — JIroau q1omKHBI OBITH OOJIEE TEPITUMBIMH.



3aganue 8. 3anumuTe NpeUIoKEHUST B OTPULIATETILHON opMe U IEPEBEAUTE UX.
1. My brother graduated from Kazan state power engineering University.
My brother did not graduated from Kazan state power engineering University. —
Moit Opar He 3akoHumn KazaHCKuW TOCYIapCTBEHHBIH JHEPreTUYECKUN
YHUBEPCUTET.

2. By that time they had settled the matter.

By that time they had not settled the matter. — K Tomy Bpemenu oHu HE ynmaauim
9TOT BOIIPOC.

3. He takes his dog out for a walk twice a day.

He does not take his dog out for a walk twice a day. — OH He BBITYJIMBaET CBOIO
co0aky JiBa pa3a B JICHb.

3amanme 9. V3 naHHBIX CJIOB COCTaBbTE M MEPEBEIUTE Ha PYCCKHU SI3BIK
npemioxenne: Not, these available, are, instruments.
These instruments are not available. — 3t HHCTPYMEHTHI HETOCTYITHBI.

3aganme 10. [lepenuiunte U nepeBeauTE NPENJIOKEHUS, MMOCTABUB IJarojibl B
CKOOKax B HYKHYIO BPEMEHHYIO (opMy, cOOIIOasi MPaBUIIO COTJIACOBAHUS
BPEMEH.

1. He knew that he (to win) next time.

He know that he would win next time. — On cka3ai, 4To BEIMTPAET B CJIEIYIOIIHM
pas.

2. The students read the book their teacher (to recommend).

The students read the book their teacher had recommended. — Ctynentsr
MIPOYHUTATN KHUTY, KOTOPYIO UX YYHUTEIb PEKOMEHIOBAJL.

3. She said that she (to study) Physics since May.

She said that she had been studying Physics since May. — Ona cka3aia, 4To OHA
u3ydaeT (pU3MKy ¢ Masl.

3ananme 11. [Ipounraiite u nepenummuTe TeKCT. Mcnonb3ys cioBapb, MepeBeAUTE
MUCbMEHHO 1-H, 3-1, 7-1 u 8-i1 ab3a1bl.

1. When Newton was twenty-one years old he came under the influence of
an old man named Isaac Barrow. Professor Barrow had been recently appointed to
the university’s famous Lucasian Chair of Mathematics, named after Henry Lucas
who provided the money to endow the professorship. Barrow soon saw that Isaac
Newton showed unusual talent as a scientist — or “natural philosopher” as scientists
were called in Newton’s time. Barrow befriended and encouraged young Newton.

1. Kornga HerloTOoHy OBLT ABajllaTh OAWH TOJ, OH MOMNaJ IOJ BIUSHUE
crapuka o umenu Hcaak bappoy. [Ipodeccop bappoy HenaBHo ObL1 Ha3HauEH Ha
3HAMEHUTYI0O YHHBEPCUTETCKYIO Kadeapy marematuku Jlykaca, Ha3BaHHYIO B
yecth ['enpu Jlykaca, KOTOpbIA MNpeaoCcTaBUNl JACHbIUM JIsi 0O€CTICUeHUS
nomxHoctu mpodeccopa. Bekope bappoy yBunen, yto Hcaak Heroton oGmamaer
HEOOBIYAHBIM TAJTAHTOM YYEHOTO — WJIM «ECTECTBOMCIBITATENbY, KaK Ha3bIBAJIH
yu€HbIX BO BpeMeHa HwroToHa. bappoy moapyxuiacs v moadoapuil MOJOI0TO
Hprotona.



3. Isaac’s mind was also busy with refraction or the bending of light. He was
experimenting with his lenses and thinking about things Professor Barrow told
him. Ever since his school days, Isaac had been an experimenter, who liked to put
his thoughts to proof. He wanted particularly to understand the events that took
place naturally in the world around him — motions of planets and comets, the
changing of the tides, the beautiful colors in soap bubbles, the resistance of the air,
the laws of motion, and the transmitting or changing of one metal into another.

3. Pazym Hcaaka Ttaxxke ObLI 3aHAT NPEIOMJIICHHEM WJIA HCKPUBICHUEM
cBeta. OH SKCIICPUMCHTHUPOBAJ CO CBOMMHU JIMH3aAMHU W PAaSMBIILIIAI HAJd TCM, 4YTO
ckazan emy mnpodeccop bappoy. Eme co mxkonpHbIX BpemeH Mcaak Obu1
AKCIIEPUMEHTATOPOM M JIFOOUJI MOJBEPraTh CBOM MbIC/IU MpoBepke. Ero ocobeHHo
HHTCPCCOBAJIO IMOHHMMAHUC HBJ’ICHI/Iﬁ, MMPpOUCXOaAIMNX CCTCCTBCHHBIM 06pa30M B
MHPEC BOKPYI' HETrO: ABMIKCHUC IJIAHCT U KOMCT, UI3BMCHCHUC IIPUJIIMBOB U OTJIMBOB,
KpaCHuBBIC IBCTA MbLUIbHBIX HYSBIpeﬁ, COIIPOTHUBIICHUC BO3AyXd, 3AKOHbI IBUKCHUS
U Nepeavyy UM IPEBPALLEHUE OJJTHOIO METAIIA B IPYTOM.

7. Sometimes, in figuring scientific or mathematical problems, binomials
have to be multiplied by themselves many, many times. Multiplications like this —
of which Newton had to do many — are very complicated. They could cover sheets
and sheets of paper were it not for Isaac Newton’s rule. It looks difficult, but
scientists with an understanding of mathematics substitute the numbers they have
for the letters, and follow the multiplication signs and the plus and minus signs of
the formula. By so doing, they can get correct answers to their problems simply
and quickly — without covering all those sheets of paper.

7. I/IHOFI[a puiajl HAY4YHBIC HWJIM MATCMAaTHYCCKHC 3aJa4, 6I/IHOMI>I
IPUXOIUTCS YMHOXKATh CaMH Ha ce0st MHOTO-MHOTO pa3. ¥ MHOXKEHHE TaKOro pPo/ia,
KoTopele HBIOTOHY NpUXOAUIOCH JAeNaTh, OYEHb CHOXKHbL. OHHU MO Obl
MOKPBIBATh IIETbIC JUCTHI Oymaru, ecinum Obl He mpaBuiio Mcaaka HeioroHa. 3T0
BBITTIAAUT CJIOXHO, HO YUYCHEIC, pa36npa}0mnecs1 B MAaTC€MAaTHUKE, IIOACTaBIIAIOT
qucijia BMECTO 6YKB U CICAYIOT 3HAKaM YMHOXCHHA, a TAKXC 3HaKaM ILIIOC U
MuHyc ¢opmysbl. Takum o0pa3oM, OHM MOTYT HPOCTO U OBICTPO MOIYYHUTH
ITpaBHUJIBHBIC OTBCTHI HA CBOU HpO6JI€MBI, HE 3aI10JIHAA BCE€ 3THU JIUCTHI 6YMaFI/I.

8. The binomial theorem works for all numbers (as long as they are in a
binomial) and it may be used not just in multiplying a number in itself, but in
multi-plying anything — the number of stars in a galaxy, the number of atoms in a
molecule. Moreover, it may be employed to reach answers beyond our
understanding, their numbers are so large.

8. bunomuaibHas TCOpEMa pa60TaeT JJI1 BCEX YHCEII (HOKa OHH HaxXOoAATCHA
B OMHOMUANILHOU (DOpME), U €€ MOXKHO HCIOJIb30BaTh HE TOJBKO JJII YMHOXKEHUS
qucijia caMoO IIO 0666, HO W I YMHOXCHHA 4YCTO YIroaHO — 4YHCIIAa 3BC31O B
TaJIaKTUKC, KOJIHUYCCTBO AaTOMOB B MOJICKYIIC. bonee TOTrO, €Ir0 MOXKHO
HCIIOJIB30BaTh MAJIA IIOJIYYCHHA OTBETOB, HAXOAAIOMXCA 3a MIpCEACIaMH Haero
ITIOHNMaHUA, HACTOJIBKO BCJIIMKO UX KOJINYECTBO.

3apanue 12. [IucbMEHHO OTBETHTE HA BOIIPOCHI K BBIIENIPUBEICHHOMY TEKCTY.
1. What problems was Newton interested in?



Newton was interested in various problems, including: the movement of
planets and comets, changing tides, beautiful colors in soap bubbles, air resistance,
the laws of motion, transmitting or changing one metal into another.

2. What university did Newton bring fame in the field of mathematics to?

Newton brought fame in the field of mathematics to the University of Cambridge.
3. How did mathematicians work with numbers before Newton derived “basic
formula”?

When solving scientific or mathematical problems, binomials had to be multiplied
by each other many, many times.

3apanme 13. CocraBpTe K BBIIENPUBEICHHOMY TEKCTY YETBIPE BOIPOCA PA3HOTO
tuna (001U, CIeIUANTbHBIN, ATbTEPHATUBHBIN, pa3IeIUTEIIbHBIN).

1. How did Isaac Barren influence Newton when he was twenty one years
old?

2. What areas of nature interesting Newton and how did he approach the
study of these phenomena?

3. Was Cambridge considered the leading center of English mathematics at
that time, or did scientists believe that greater progress was being made by scholars
in London and Oxford ?

4. Scientists with an understanding of mathematics replace numbers with
letters and follow the Multiplication and plus and minus signs of Newtons formula
to get correct answers, without covering all those sheets of paper. Does this seem
actually or is it actually a rather straightforward method?



